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91.

92,

83,

SPECIAL INSTRUCTION FOR SECTION IO
In Section-IIl there are two sub-sections 111 (a) and U (b), Section-1IT (a) consists of
B0 questions in Mathematics and Science. Section-111(b) consists of 60 questions in
Social Studies. The candidate has to answer either lll{a) or Ill{b) as chosen by him /
her in his / her Application Form. For questions of Section-1Il, candidate has to mark
all the answers in the OMR Answer Sheet from 91 to 150.
Wr - 0 T fave e
W - 111 T FE NI () A 1L (b) ¥ 1 W - 111 (a) # WP @ faga ¥ 60 wm F
M- I (b) ¥ wfas werm F 60 7w ¥ vl w .fedlt wR - 10 (a) AT
NI (b) 1 3% 9 HETT 07 F 36N w00 & | ¥M - U F ¥ &g anaeff 5 5wt o0 OMR
IWTEH 91 § 150 v fafga s & |
SECTION - III(a) / T - II{a)
MATHS AND SCIENCE - nfora g faam

There are 60 questions in all in this Section. All gquestions are compulsory,
A H F4 eo WA § 1| wvit v s §

The bright. attractive part of a flower is

(Al  corolla (Bl sepals
(€ - petals (D} pedicel.
T F SHhICN a9 STEYE o

[ =Eg B) =Em =
i) =\ (DL~9%9 77 |
Cholera is caused by

(4)  bacteria B] virus

(C] insect D}  toxn.
e g #

) At g (B) 3R E
[C) I g (D) e B o
Eggs are a rich source of

{#) fibres (B) protein
(C) carbohydrate (D) fat.

#% 3om wim §

(W) e @ B EE @
[C) =S & D) = F |
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94. Jute fibre is obtained from which part of the plant ?

E Leaf (B) Flower
Stem
. (D} Root.
WY % fEm 9 @ 5z og om s 2
YR i B) =
< @ Dy 7=
95. Rice and wheat can be termed as
(A) pulses (B) cereals
(C) wvegetables (D) fruits.
e a9r Y F1 Aaa o oy 3
(A) Tl FETH (B) = & w9 o
(C) wfesaf & =g o (D) el F=TH |
96. Flants that produce their own food are called
A) autotrophs (B) heterotrophs
[C) saprophytes (D} parasites.
T Sl ST mr = Sy ¥, weend &
& eErETE (B) eTgTw
([C) HurwEs (D) T
97. Flowering plants that bear flowers, fruits and seeds are called
{A) cryptogams (B) ferns
(C) EyMmnosperms (D} angiosperms.
T, WE 991 S 9 S 9 B gu O weeny § '
() e m\  wE
(C) fFa=iregd (D)  wfegresd
98. Which of the following is a dicotyledon 7
E Grass B) Mango
Maize
(D)  All of these.
F= A & fgstoosft sl & 7
(a) =8| B) &M
(C) #==d (D) 779 & 9 )
99. Single-celled animals are classified as
A arthropods (B) mammals
) Protozoans (D)  meoelluscs.
WS ren wiforl w1 witew ey smar &
(A) - ghitz F =g By Wi Fegd

(C) wiEmem & =y D) Hres=F F ®9 T
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100. The roots of a banyan tree are
(A climbing roots (B)  stilt roots
(C) breathing roots (I} adventitious roots.
A 0 ¥ o &
(a) et TE (B) E=W A
(C) Ta&7 T (D) sTgEsnf=h H= |
101. Water that is absolutely pure and free from any impurity is known as
() distilled water (B) mineral water
(C) spring water () boiled water.
579 & 9ol 9 9 g% 909 I[E I T Fel o ¢
(VI IS G B @EfF= ==
(C) T W S (D} S=ren gam AE |
102. By which methed is a solute obtained from a sclution ?
(A) Sedimentation (Bl Decantation
[C) Filtration (D) Ewvaporation.
fFaTghgu o e A fra m s asa € 2
(A  HAFEEA (B A=
() =ATHEA (D) =A==
103. Which of the following is a water-borne disease ?
(&) Diphtheria [B] Tetanus
{C)  Hepatitis (D) Malaria.
wm Atm I g 7
(a)  Fegdfom B fer=
() Emfem (D) HeATE |
104. Constituents of quartz are silicon and
{A)  oxygen (B] sulphur
(C) nitrogen (D) hydrogen.
A & gy § fafaswia g«
(A) ST B) HFRL
) AR (D) TESEE
105. The burmning of which causes the most air pollution ?
(A} Coal (B] CNG
<) LPG (DM Hydrogen.
T et |/ gag wivs 9. v g & 2
(a)  =HIEED Bl CNG

€ LPG (D) wEsEE |

26 |
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106. Which of the following substances is nol miscible with wa'.ner ?

(&) Milk
{C)  Alcohal

3% F @ S vk w1 F i g g 2
VA

(C]  aterigw

107. Which is not a reversible change ?
(A} Water to water VEADOLUF
(€}  Burning of kerosene
et wfied sh-m i 2
&) WEH um
(C) T = ww

(B] Honey'
(D} i~

B] TEs
)

(B] Melting of iron

(M Condensation of water vapour.

(B) wier ® firaeen
(D) 9 =1 Hew

108. The molecules of which of the following substances contain the same kind of atoms ?

) Oxygen
(C) Carbon dioxide

(Bl Water
(D) Sulphur dioxide.

ﬁﬁrﬂ’ﬁﬁmﬂmﬁaﬂqﬁfﬁwﬁm%mrﬁt ?

() s
(C) =M EEawaRe

B ==
D) VP EEAEEES |

109. Which of the following formulae represents a molecule of ozone ?

W o,

© H,O,

T & Fh-w g s = w et & 2
W o,

© H,0,

I'10. Which of the following is an alloy ?
&) Iron
[C]  Stainless steel
Feaddsnfagag i ?
A e
Q) w=Tew =

B o,
(D)  None of these.

B o,

(D) 378 8@ % 72
(Bl Gold

(D) Copper.

(B) WM

(D)t

27 |
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When a force of 1 N acts perpendicularly on an area of 1 m2, the pressure is
i~ 1 joule B} 1 pascal

i) 1 watt (D) 1 farad.

| T 2 S W s w W HE w0 S 1 == 9@ % fer 2@ Fe
W 1E B) 1 TEERE

) 19 o) 1%TE
How many ergs are there in 1 joule 7

w107 B 10°

iy 10° o) 102

| ot # o i B E 7

A 107 B\ 10°

© 104 D) 102

A foree applied to a machine to do mechanical work is called
") load B) effort

[y outpul D) efficiency.
feit et T iR w3 WA o wEe

) W (B) waHE
 fim (D) BEE |

An example of natural magnet 1s

) iron (B) steel

{C) lodestone (D) all of these.
Tt e W SaE

[A) B =

() TEE-Tel (D) oE G|t
The Iabillt}" to do work s called

(&) power (Bl energy

(C) mass (D) heal.

wrd w3 = e Feen @

&y T B =

) w9 (D) o0

28|
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116. The SI unit of area is

A mm= B) cm?

(C) m?2 I  km?2

#TF T SIFHE §

W o 2 (B) H

ST D) fedt 2,
-117. What does angstrom measure ?

[a) Quantity of lguid (B] Length of light waves

{C) Length of cables (D) Speed of ships.

W ATYeE ¥ 7

W) wE R A (B) Wemr @l @ T

(C) wfawt =1 e (D) T = ==
118. A comb attracts small pieces of paper due to

Al frictional force (B magnetic force

(C) gravitational force D} electrostatic force.

T FH FFO F D gHS F AR w1 w0

& o wfE =5 (B) =g Ew

(C) e == (D) Teer Sgfasta =@e |
119. Force can be measured using a

(4  spring balance B) thermometer

IC)  caloritneter {3} none of these,

e *1 =9 W OFEA

& feEm gen & wEm ga (B) wHiHeT g/

([C) Feiridtzt gr- (D) w7 A wr T
120, Friction can be increased by

(A) applying oil B] moisture on the surfaces

(C) rough surfaces (v all of these.

Y Y TG W A

W A = (B) wael Wt g

[C) =it wael gm (D) 70 & =t
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121.

122,

123.

124,

125.

The surface area of a cube is 96 cm *. What is the length of its side ?
A 4cm B 5Scm

i) Gcm (D) & cm.

frelt == =1 g A 96 Ui A R | gEET e ) wHaT wm w

) 4 B 5%

) &% (D) sFH |

The degree of the polynomial 4x* - 3x% + BxY is

W 6 B 5

icy 3 o 2.

TER 4x? - 3x5 + 8x S F FE T

A} B B 5

c 3 m 2.

A straight line intersecting a circle at two points 12 a

(Al tangent (B] secant

i) chord (D) segment.
ﬁﬂfﬁﬁﬁiﬂﬁﬂaﬁﬂqﬂﬂﬁiﬁﬁﬁﬁﬁmmt

W e B #=F

fcy St (D) T°E |

fset A=|2 3 4.5 6)andset B={3. 5 7.9} then how many clements are there
nANB?

w0 B 1

cy 2 o 3.

o wr= A=1{2 3 4.5 6} wg=a B={3.5 7.0 }d a N B femt sEga ¥ 7
0 B 1

c 2 o 3.

The number of elements in a set is called

1A  ordinal number (B) natural number
(C} counting number (D] cardinal number.
foreit T # sEeEl W WEm W §

(a)  FEYER WA @ W wE

[C) T HEN (D) W@ HEA |
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126. An article marked at Rs. 8,000 is sold for Rs. 7,200. What is the discount

percentage ?
A} 10% Bl 8%
(C) 12% (D) 11-19%.
fereit =g =1 #ifrm 970 8,000 %0 £ &R 7,200 Fo ﬁﬂ_iﬂ'ﬂrﬁi% | g2 whavm # § 7
A& 10% (B) 8%
€ 12% D) 11-1%.
127. Whal is the complementary angle of 55" ?
(EY 1807 B) 90
) 125 (D) 35"
55" & Y& H0 7 Z 7
A 1807 B 90
i) 125° () 35°.
128. Find the degrees in an angle which is 0-2 time a straight line angle.
(A} 207 B 3z
c) 3e° (D) 457,
Torsl STata F FT 0.2 T 0 fE st W e 7
w 20 | 32
© 36 D) 45
129. The letter ‘D" has .........c....... lines of symmetry.
Al one B two
[C)  three D} none of these,
@t "D H T wwfirg v § 2
& = B =
() D) T & FE T

130. A closed wooden box measures externally 20 cm long, 14 em wide and 9 em high. If
the thickness of the wood is 1 cm, find the weight of the box if 1 em? of wood

weighs 0.5 g.
) 272¢g (B) 496 g
C) 504 g D) 534 g

T W% TS w H oAafr A 20 0, drerd 14 90 9w ¢ 0 A ¥ | ofx w1
Al 1 A A 1 A S w1 A 0-5 90 2, @ v w5 A e o |

(8" 272WH (B] 496 TR
(C) 504 7MW (D} 534WH |

31 |
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131. What is the square root of 29 7?
A 64 B 48
i) a2 D) 16,
28 wigE F g 7
A} B4 (B 48
) a2 D) 16.
132. A field 1s 80 m in length and 60 m in width. The ratio between its width and length is
N 3:2 B 3:4
) 4:3 o) 2:3
e e ) o 80 o st 60 & 1 e qw e & = arE Em
A 3:2 B 3:4
) 4:3 D) 2:3.
133. The angles of a triangle are in the ratio 3 : 7 : 8. Which is the greatest angle 7
A} 607 B 7O°
[C} 795° D) 80"
FRPEmEFT 3 7: 8% A AE T AN Y ?
& 80’ |\ 70
iC) 75" (y 80°.
134. In a class of 50 students, 40% are girls. How many boys are there ?
A 20 B 10
IC) 25 D) 30.
50 faenfifdi =1 oF wa § 400 wefedl & wa § fear wEH € 2
A 20 B) 10
i) 25 D) 30.
135. Express as a decimal :
Rs. 37-25 + Rs, 230 _ _;_[ Rs. 30-45 - Rs. 1:20 }
Rs. 12:67 - Rs. 4-76 0| Rs.,9-58 - Rs. 6-33
@ Rs. 4-10 B) Rs. 375
[C) Rs: 5-30 (D) Rs. 5-80.
T o oqw WA
37.25%c +2:30%0 _ _1_.[ 30.45%0 - 1.20% }
12.67%0 — 4.76% 10| 9.58%c - 6-33%¢
(A  4-10%e B 375%0
‘C)y 530Fc (D) 5-80%e |

32 |
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136. Fill in the blank :

000187 X coviieiiiaas = 18-7.

A 100 (B) 1000

) 10000 (D) 100000,

foer wam =1 qfF Fifag -

000187 * .ovveerrrnns = 18-7.

A 100 (B} 1000

) 10000 @ 100000,
137. Subtract giving the answer in kg.

4317 g from 23 kg

(A  19-683 kg (B) 18-383 kg

(€ 19-383 kg (D) 18683 k.

e fm o 39 =ifan -

23 fwm ¥ 4317 0

(A 19-683 fFm (B) 18-383 f=m

(C) 19-383fFm (D 18-683 fFm
138. A 4-85 m long pole is divided into 5 equal parts. What is the length of E.al:hpart ?

(4 085 m (B) 097 m

() 095 m @ 092 m.

TH 4-85H T G@Y H 5 wvE vyt F fawfas o wen #  wEs wm w5y wied e 2

(A} 0-85 B 0974

) 0-95T D) 0929 |
139. What is the value of 2x3 if x=5 7

{A) 225 B} 250

) 125 (D) 150.

2x 3 WA FNEM AR x =5 7

(&) 2285 (Bl 250

[C) 125 (D) 150.
140. What 1s the square of O-02 ¥

Ay 0-0004 B 0-004

) 004 D] 0-4.

g0zF el F=m & ? j

(&) 0-0004 (B) 0-004

) 004 o 04,




JAGRAN

UPTET(Teacher Eligibility Test) Solved Question Paper II- 2011 josh

nnnnnnnnnnnnnnnn

141, g Is a/an ..ooccieiieiinnaninnne..,. fraction.
) proper (B) improper
(C]  mixed (D) unlike.
) 3fm B) s
[c) fasx (D) Tawfta |

142, A post has one-fifth of its length in the mud, one half in the water and the rest of ft
10 ft in length is out of the water. What is the whole length of the post ?

A 26M6in (Bl 33ft4in
(C) 36 ft D) 37ft9oin
qmﬁmaﬂﬁaﬁméaﬁ%ﬁ;ﬁ,wwﬁﬂmﬂqmﬁzaﬂa’mﬁwﬁ%m%nﬁmaﬂ
EUR e I
(&) 26%RE 639 (B) 33WkE 439
[C) 36 wR D) 37%RE 9591
143. Choose the option that is arranged in descending order
32 8 5 2 89 2 3
W 3376 12 B 15:-16-3-2
3 9 2 5 9 5 3 2
(L] i'16'3' 19 (D} 16°12'4'3
el FH w1 fawew gi
32 9 5 5 9 23
W 431612 B 13-16'3'1
3 9 2 5 5 3 2
© $16 312 © 161243
144, What is the least fraction which when subtracted frmnﬂg—sg+ llzil-will make the
result a whole number 7
1 1
W3 B &
1 1
© = o 5.
ﬂﬂﬁﬂﬂﬁﬁ.ﬂﬂﬁﬂ4%—33+ll-ﬁﬁl—ﬁﬂeﬁmwwqﬁﬂnﬂi’w?

A (B)

I ] -

&) (D)
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145. Simplify the following :

)

(R 8 By 6

c) 10 oy 12,

=1 =l wE wifa

1 1Y%.{1 1
(3+5)+(5-5)
1

A 6 B 6

(Cy 10 D 12
146. How many primé numbers are less than 25 7

& 5 By 7

C} B m 9.

25§ FH AW S At 7

w5 B 7

< 8 Dy 9.
147. The largest number that divides 99, 132 and 165 without a remainder is

A 3 ' B 11

C) 15 D) 33.

fa =1 YEF ¥ 90, 132941 165 T WM A9 JEwd Hen

i 3 B 11

Iy 15 (D) 33,
148. What is the HCF of 24, 12, 36 and 60 ?

(&) 4 B 6

cy 12 D 24.

24, 12, 36 74 60 FH HoHo FNE§ 7

A 4 Bl &

wy 12 (D) 24,

149. Three search lights flash at intervals of 20 s, 30 s and 45 s. The time between two
simultaneous flashes is

A) 5s Bl 90s
iC) 120s D] 180 s. _
3 udenge 20%), 300 AW 459 & dovd W W TR ¥ | &) gon 6T F o=w w owm
w54 (B) 90%"
i) 1209 (D) 1809 |
150. What is the LCM of 10, 15 and 20 %
&) 60 B) 40
(€ 30 D) 20.
10, 15341 20 Fodo FME 7
(4} 60 B) 40
(C) 30 (D) 20.

OR [ A9=0




